8 7
=~ \
O
o
0
N
™
C\
@)
0
N
™
®)
A
33.50

1/4-20UNC-2B V 8

33.50
43

67.25

||

90

2XM4x0.7 -6H V 8
1/4-20 UNC - 2B V 8

%{ygﬂ
()
40

40
48

O
A\

90

17.50

155

2xM4x0.7 -6H v 8

167.82

4 X M4x0.7 - 6H ¥ 8

90

(ULDA TN . o
— goze[] o900 o801
K ouwowp 0000
o )| NS u
ED'I_ITISPOW
— SONOY¥HD ol o
13 | Yp) L
M ™
AN ™
12.50 12.50

2 X M4x0.7 - 6H I/ 8
1/4-20 UNC - 2B Insert

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
KRONTECH. ANY REPRODUCTION IN
PART OR AS A WHOLE WITHOUT THE
WRITTEN PERMISSION OF KRONTECH IS
PROHIBITED.

4

3 2 ]
4
|
= <
= O
NG
2 X M4x0.7 - 6H I 8
(©)
(o]
[0)~(o]
030
030
030
© ©
UNLESS OTHERWISE SPECIFIED: NAME DATE
DIMENSIONS ARE IN MM
TOLERANCES: +0.2 DRAWN
ANGULAR: MACH#1 BEND +5 | CHECKED TITLE:
TWO PLACE DECIMAL 0.2
THREE PLACE DECIMAL +0.05 | ENG APPR.
MFG APPR.
INTERPRET GEOMETRIC QA.
TOLERANCING PER: COMMENTS.
MATERIAL SIZE DWG. NAME
FINISH ( : Chr
NEXT ASSY USED ON
APPLICATION DO NOT SCALE DRAWING SCALE: 1:1 WEIGHT:
3 2

onos 1.4 Mounting
Hole Locations

SHEET 1 OF 1



	Sheet1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7


